Scatterplot Supplemental Assignment

1) All assignments must be completed and turned in.
2) Correct summative assessment mistakes on a lined piece of paper.  All work/thinking must be evident.
3) Choose one of  the following supplemental assignments: 

· Stay after school for tutoring on Tuesday until 3:10.
· Complete the assignment below. 

4) Staple the original assessment, assessment corrections, supplemental assignment, and the retake form together.  Turn in by Friday, May 26th.  The retake will be Tuesday, May 30th.
Supplemental Assignment

Directions: Answer each question completely. Show all of your work.

1) Create at scatterplot using the given table and draw in your line of best fit. Then, answer the questions that follow.
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a. What type of trend does this relationship represent? 

          ________________________

b. Use the two circled ordered pairs to write an equation for your trend line. ________________________

c. Use your equation to predict what someone’s grades will be if they slept for 6.5 hours. _____________

d. Use your equation to predict how long someone slept if they got a 95 on the test. _________________
2) Given the following scatterplot, use the given equation for the line of best fit to answer the questions that follow. Note: The time is given in seconds.

a. How long would a wave take with 17 people?

____________________

b. How long would a wave take with 115 people?

____________________

c. How many people would be in the wave if the wave took 55 seconds? 
_______________________

d. How many people would be in the wave if the wave took 2 minutes? 
_______________________

3) Use the following table to create a scatterplot. Write the equation for the line of best fit using the two circled ordered pairs and answer the questions that follow.


a. What type of correlation is shown? 





_______________________

b. Write the equation of the trend line.





_______________________

Using your equation, answer the following.

c. Predict how many cups of hot chocolate were sold when the temperature was 30 degrees. __________

d. Predict how many cups of hot chocolate were sold when the temperature was 15 degrees. __________

e. Predict what the temperature would be if 45 cups of hot chocolate were sold.

   __________

f. Predict what the temperature would be if 80 cups of hot chocolate were sold.

   __________

4) Which best describes the trend, if any?

a. Positive

b. Negative
c. No Trend

d. Non-Linear Trend
a. ple had a drink




Hours of Sleep�
Grade on Test�
�
5�
50�
�
6�
55�
�
7�
82�
�
7�
75�
�
8.5�
80�
�
8�
85�
�






Temperature�
Cups of Hot Chocolate�
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